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0 - 0. 0000 0
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0. 4441 -0. 2220
0 0. 0555
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o ol Iy (est) g, cdls wVolae L X0, 0,49 9 SYS i 3L, L €St =€StI M(SYS, L) g
P8 g0 Bt Soygy Wishica oyd 555 ol HB Y (lers S ann 5 (ol (W) s (sliasss dod 2o

208l 5 SYolee slls (5Y8) shol ptams 51058 0 4l > (gl
X=Ax+Bw
Y=Cx+Dw
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S e adg s Vol L1y (3,)) s Cd> 5 (5,5 Sloiess ST M giws o]

x=Ax+ L(y—-Cx)
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90 4 5 e 1o (29y% mizmen Bl W (oLl Slpdgyg 9 U polre (slo (639)9 (S)lo SYS pias 45 350
g oo o (2) (555 o3Il BB b 5 (9) (555 o3l BB 0y

xX=Ax+Bw+ B,u
= x+ w+
Y G, D,,
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¥ 1 0

598 G 3l sl p3SlSLl acker L kal man place oljgis L (L) Koo, 0,0 o>k a5 el (S5 LLS
il iy (ol i SleSials 5l Sy SleSalins a5 Conl 0¥ (e S el jslate 4
i po o jgws
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2 3 K
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sl ol 3l 5 X g5, (elts b Jlael pgo o,
D=P"'XP - X =PDP™" -, e* =pe”P”!

» [V, D =eig(X;
» exp_x=V*di ag(exp(diag(D)))/V;

o|) )| eX ML?LA Pow ij) ;)5.\.: <° oalazwl CX Ml?LA 6“).: Pow k.)"’ﬁ) )| A...ul.a sl ‘5)‘)i: 0)95 ).u)l.a.n X 42.)L.’>

el Pade o &
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o yo Sl ygiws
Pade o ,& g, 3 e* dwlo expmrl
35k S Ubs) € dls @XPITR
oy oo p g polie ig, 5l €™ aulxe ©XPNB
WS oo danlo ) A e 0, 1 Oogm
X*¥X=A a5 050 o sty bz ) X Gl X=sqQrim(A) ewssqrim
Al oo Jlesl |y alizee ailgs cun o p,8 f UNM

:Gram  jewd=\\-Y
Sr% a9y 9 Gpdy J5S Slilel S dle i bun o

I‘_’i))li;

We=gram(sys,’'c’)
Wo=gram(sys,’'0’)

Slansy ®
IS oy 50 bl 5 cpl 51asST oo dilome |) el S 2380 Cog)y g sl S sllel S gram jgies
B9l (oo oolainl ldds as o alS 5o 3 g pteaw Sl a9 S
WSl ) Dyeo A e lad SYolee S
)-c = Ax+ Bu

y=Cx+Du

g (oo Lk yi ) Dge & Sy Sugy 9 S S5 slekal S

= jeATB.BTeATTdT
0

= jeATTCT.CeA’dT

1Cld el o) dind lpeoinew 5l g
= AkBBT(AT)K

k=0

w, =Y 4" c"cat

Do Cado 3ud Gy Cogy Oleal 5l &y J5uS (AB) STLs o 51 sl (e Coite g 08y 58 Slsl 5
ol Jlas!l BB 55 ylej aienS Sl 4 GF @AM j5ws 250 &y Sus, (CA) 51 L5 o 51 el
12,8 drlre Olg (o0 25 Seibld aolae > 1) 6 p0dy Sy el S
Covgny Slooianns 50 AW, +W, A" + BB =0
@S Slooiapns ;50 AW, AT =W, +BBT =0
el Golo 5 Sebld o¥olas )3 58 sy oy Ol S
Qg Slooiinnns 00 AW, +W, A+CTC=0
@S Lot o AW, A=W, +C'C=0

255 ooliiul lileal 57 Ao sl O3 oo s dl yap s lyap &lygiws 5l cnlnle
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A3kl Wb A Gu gl tlnogaxe  ®
il o Oljgws @
Sy J5S e ile anle €t rb
Srdy Cugy oyl aulxe 0bsV
b Lol 3 5l oslitul b oady Jolaie 3825 arulos hal 1 eal
Olej dnnS g atwgy sl o Sgibl) aolee J> 4 yap, dlyap

tinitial jews -\Y-Y
(o (39,9 o) adsl Ll o 4y it oy a1 B0 0

ZJ'J)LS.S
initial (sys, x0)
initial(sys,x0,t)
initial (sysl,sys2,...,sysN, x0)
initial (sysl,sys2,...,sysN, x0,t)
initial (sysl,’PlotStylel ,...,sysN ' PlotStyleN, x0)
[y,x,t]=initial(sys, x0)

e 0 52 a4 el Jlesl LB loy asnenS g aign ledow 4 &bl 0l (o il piiagn sledl> 0
i ddgl bl lpsrwly o, Loi NI ti Al jeiws gl>l o)lee plo s [y, t, x] =i nitial (sys, xo0)

| a‘;a.m

X0 adgl byl s 4 1) (Gl Il slad 0,8 4 ] SV olae 4S) 8YS pitew gl B Nt Al (SYS, X0) 5w

olis :)Lolf 1,38 > o, Loewly o,Slos aS 05 oo (ptd L o5 job 4 (gile At slpone (ioled
REV-N
Gl oolle Sy o3l cdlxulyo oS mglas pl b el B cdl> wileiniti al (sys, X0, t) jgws 4
t L: D)S FM’ ‘) 6)1..» 4\.».»...»: 6LQ,».:‘ alasd) t:Tﬂna] ubw‘ l) L)‘?”LSQ el 00l ,a?v.«wo‘ ).».: ‘W’ - Ja.a‘f.u Ml}m
Dged el )l Do a )
t=0:dt:tfinal
Jtw: t=0:0. 1: 10;
LgLe(o...w.w BLE el ool ud?(m.ﬂ ):.) Lg)Lw w LQLQ/QK ‘(Tﬁna] iy ]n..a) LQ)L"" d.w..v @Lo) o)LJ » 09319 V«JLZ...Q“ 5
S, b ogd sl S8 jassl wbdt g Slpotmnm ;0 all Kalen (5,10 diges Hloy b b dt ¢ ans
200,85 atin gy 4 1,08 >
29y o0 ) 4 ) Slysiws cadsl byl il S a4y LTI gl iz slodenly lojor sy 61y
initial (sysl,sys2,...,sysN, x0)
initial (sysl,sys2,...,sysN, x0,t)
:Q|)9:1.~.n> 6‘),?‘
[y,t,x]=initial (sys,x0)
[y,t,x]=initial (sys,x0,t)
By en (X) i Sl 6l s s ple 5 (D) (55l 4l Lo Jlo g (Y) 4l (29,5 mle adg 4 e

slass g (t olul) (g5le ancd lple) olaws a4y L le o jlan dlowi 09l sod ey S g Syl o
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s Sl Slaws @ g S I ength(t) olows @ 56 X e lo .ol ginw Slazg,5 slows 4 ] slesgw

Syl gt

S o0 A9 ) R ) plter Sl Vol i Jle o
% {—0.5572 —0.7814}{%}
.| Lomie o x

y=[1.9691 6.4493]{){1}

X2

1
il Jpaz BB 5 dalp Lawgs g = {0} adsl Ll 25 b s Geoly

[-0.5572 -0.7814;0.7814 0];
[1.9691 6.4493];
; 0.5];
. 1:10;
1 10;

ss(A[1.C1):

subplot (2,2,1);initial (sys,x0);

subplot(2,2,2);initial(sys,x0,t1);
subpl ot (2,2,3);initial(sys,x0,6.5);
subplot(2,2,4);initial (sys, x0,t2);

thud o Oljgiws  ®

s 17 by s i MTPUI SE

olgZds (699,54 plune Grly oy 4 ST M
i 4y sl oo, ST EP

:kal man  jgaws —\Y-Y
Oloj anS 5 Agy Slostnns ln IS GLE) s, (S i das e

oS e
[ kest, |, p] =kal man(sys, @, Rn, Nn)
[kest, |, p, mz]=kal man(sys, @, Rn, Nn)
[ kest, |, p] =kal man(sys, @, Rn, Nn, Sensor s, Known)
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Ly ool Ras;y e S o3l 5295 5 piens 298 WlLISS 55 9 e Sl glad Jow b o L kal man g
&S e b
Dgd (g0 48,5 Ll 0 5 > SYolee b g
x=Ax+ Bu + Gw
y,=Cx+Du+Hw+v

Ol 30 aSU 5 ere 63955 W g Vi)l g aited anld g 65 ol shw slapg cuiiiw
E(w)=E(W)=0
Eww')=0,EmW")=R, E(w")=N

20,5 deS JBaile cllo glas il )lsS aSila ! piaew leadls 5l X0 ez 8L Ban

P=lim({x =} tx=x)")

DBl o ) Dygo a4 o SVl aS el I LS A Al

x=Ax+Bu+L(y, —Cx—Du)

)A} :{C:|;+{D}u
¥ 1 0
D9 oo Jol> s SIS, Aslae S > 5l g o0y b oy Ll o a8
Ao oo dzs (kest) edl5 sld el glad Jue [ kest, |, p] =kal man(sys, Qn, Rn, Nn) jgiws
Wb a5 Gl g Jdo 55 8YS &l oals asie N g RQ L YU dajly, 0 a5 it g8 il 1S NN g RNQN
D9 3)ly p5 Syge &
A,[B G],C,[D H]

(kest) Ko, alolee p ogdle jgws (nl all oo [y X} Slezs> 5 [Wy] slagsss,s s (kest) Jol> S,
w5l PoBale glas il )lsS e yile i g L ;K00 040 jlade ¢
HESUIRTRYE PR
S 2l
0=60G"
R=R+HN+N'H" + HOH"
N=G(QH" + N)
DS Loyl ) p dalyds b g g et
(detectable)asly pay g ol (CLA) N
O-NR N 20 §R>0 ¥

ALEL LB agnge j3me 55y sl JynS <> s (A-NR C,0-NR N') ¥
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il o Ol jgws @
Lwgn Sz S, doles J>care
Sy 0xte 9 e SY0lae (55 5l Ky, S¥olee ags €StIM
LQ b Soam po¥eS, S Ak A ar

iLyap jgiws -Vf-Y
Obey = gy Bgibl) dolae Jo> idu
S e

X=lyap(A Q
X=I'yap(A, B, C)

WS oo Jo 1) 5 Bgbld doles X=Lyap( A, Q) jgiws ilxadys  ©
AX+XA+Q=0
Db olEe QST el )lite X s pile akiwd aspe slpws ile Q5 A ] 0 aS
A5 oo o 1) a8l pesy Bl doles X=lyap( A, B, Q) jsiwe
AX+XB+C=0
| )L?)Lw LQ)T DL!.’I ‘515 Kb ovon ] "Los}l C 9 B 9A QT B as
HESUFRTRT PR
QJ.C.)J~ pasus Gwl.l 4...»..;9.‘4 dybu aoles O&T ‘MLi B o).vj ).lbl.ﬂ.n Bn 9 e ‘Bz ‘Bl 9A DJ"S )JQLM Oy g . Ol ¢« O ;‘
il azils (1)) olg=ds z9) ® &l STols
a +B,#20
S oollas play wdgi lyap jsiws wils 155 ulyo ol asils
Sol ution exits or is not uni ge

il o Ol jgws @
S o o |y aeeS Ggbl) dolee dl yap jgiws

nul |l yews —10-Y

o ple St slad s 18U

B=nul | (A) t by

.Afsadj‘)\A u“-’)-’L"‘_.;QALSlaAB 6‘1-3459..\,41;3.4 A%I,:L_{iB:nm I (A) g (ol 565
~“°@‘)A‘6@6w°‘-‘e‘3@wwolws BTB=1 S el ply

» AS[1 2 3;1 2 3;1 2 3]
A =

1
1
1

2 3
2 3
2 3

» nul | (A)

ans =

' Nullity
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-0.1690 -0.9487
0. 8452 0
-0.5071 0. 3162

» null (A'r")

ans

:0bSV jgimws -1#-Y

oS .
Gb=0bsv(A, C
b=0bsv(sys)

2o u\.@‘j} Er v |) ) LS)"“\) wj) qu)JLQ ObSV(A,C) )51.w~> u.\.wb p*nw).:Lo s_i- C 9 n*n uw)JLo
ob=lc ca car - ca]

arlgs dwlre |y a6 0y Cogy i Sle 55 ODSV(SYS)  jaiws cubl piwmw S cdl> (slad Jae sys Sl

K

ol Jolro ) yeiwo b jgtws oy
Gb=o0bsv(sys. a, sys. b)

il (B95he ) g iU
X=Ax+ Bu
y=Cx+ Du

Pyl e as

ol Sl 23y g s (] 45080 (o0 (LS 5 4slip 4SS
A=[1 1;4 -2];
B=eye(2);
C=[1 0];
D=0;
rank(obsv(A Q)

ans =
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i po sy giwd
S (ool w5l ) s AL Sy 9 pd Cug, sl ObsVE

:0bsvf jgws -\V-Y
s 2y Sug)y 9 il Cugy Sl 35 T iSus e
LS

[ Abar, Bbar, Cbar, T, k] =obsvf (A, B, O
[ Abar, Bbar, Cbar, T, k] =obsvf (A B, C, tol)

x=A4, x+Bu

nxn

y:C17><nx+Du
KLY = |A> o~ )l ‘) (Ooitint )JU\JLWB) 9 )J».\JWB) 6LQ,JL’> 9 clwl unitary aS D)‘& S>>
A=TAT" ,B=TB,C=CT"
055 o B A el i L 48T 3 s il el b o e L
A, | = |B, |=
no 12 ,B: no ,C:[O Co]
O AO B()
sl Any oy polie g el ST pdscag, [ Abar, Bbar, Coar, k] =obsvf (A B, C) zs; cuiy cnl @
KL O YOS UURER V) ERLTPY
o axeS "WE aS sg 4, C g By A sl w5l [ Abar, Bbar, Cbar, T, k] =obsvf (A, B, O 5w
plel il ol e 0bSVE (A, B, C tol) jgtws b ol walgs lis |y Ay sledl> slasy sun(K) axs jo

25 e g 1) pdil Cag) g pdy Cag; laldd e g Slewlre

il o Ol jgws @
Gnd Cag,y owyle dnulxe : ObsV

:pl ace jgiuws -VA-Y
69955 3z Sl piwaw sl odad Ol b iBus 0

K=pl ace(A, B, P)
[ K, prec, message] =pl ace(A, B, P)
lepdyl o

el (Bghe 15 (5995 SO L) (99,9 iz e

x=Ax+ Bu
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K=pl ace(A, B, P) ,yws . ail aies dils qias sl wollan sloekid Jore (ol P o, a5 355 o ()8
i Sledoe po 1) iy dll> g Gloedad U=KX g8 a5 WS o (b Lz ) Kl Shad e Sile
splace jsws s 50 jasio K jle (609,9 diz Glpoinn ;0 a5 Cuwl moly ans I3 P jloy o oals
Tams e 20l By A s lalaxdl iy o ] diey dils g Cowlas a5 05 e sslitul glge 55!

a5 ams oo lis aS Wils )F o p 1y Prec (K yosd noogdle [ K, prec, message] =pl ace(A, B, P) g
)Q:LS.:_'éQASIJ lehad olaws Prec Laiiwe S0 P oo oads o ledoe 4 ojlsl ax b acg ddls e (slgoad
HNAK )lwwwwsw)lb&;lapuwo@um alas s I8P o 0l Cyetd (Slodoo
Sgdus yolo message ;o Jlais pliy S il je0 ellas sledxs

1,5 dlne py Oygo ) Koy, 000 ol Bl (o place jgws 5l eslail b
L=pl ace(A ,C , P)’

(g o Ol jgws  ®
599 S5 LSW 6‘)4 u.‘o)si J}A)ﬁ )l oolawl l; g.,Ja.‘) L5’bL> acker

$S yguaws —14-Y
> glad & LTI Joo & (baws b cdls slad Jow cin s idad @
3L I
sys=ss(A B, C D);
sys=ss(d);
sys=ss(A B, C D Itisys);
sys=ss(A B, C D, propertyl ,valuel, ., propertyN,h val ueN);
Sys_ss=ss(sys)
sys_ss=ss(sys, mnimal’)

mokd —jho Joo b b @b Joe o b bl (glad 08 4 pis bl 61288 jges iOlemsg
85, 0 )8 4 > slad Jaw 4 o
W0 (oo Adgi ) dtwgn lo) el lp Sl glad Jue SYS=SS(A, B, C, D) 4w
).c:Ax+Bu
y=Cx+Du
25 0 )ls (T olasl 4 4z g8 (90) yho SISl S50 4 Gl jlade CudlS ail D=0 S

b e Jolre g ams o Ginles 1y d ol 6,00 (o ilo b piacews SYS=SS(d) jgims
sys=ss([].,[1.[],d);
adgy Itisys o ool astive She 4 axe b 2l glad Juw S sys=ss(A B, C D, I tisys) ;s

WDBb 5 ez o eal SO0 lge 5l (S wily o Syl S (o

SR B SRy EP

\
Az A-BK o5y polie Olos anes il ot lgad

R . = Y
Y| A.z\.wwmljj 6—_/,&)\\.@,«:;)‘,§J\Jl
Kautsky,J. and N.K.Nichols, "Robust Pole Assignment in Linear State Feedback", Int.J.Control, 41 (1985) , pp.1129-1155
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IoDelayMatrix 9, 635y5 Syl

InputDelay 3955 ),.>b

InputGroup 6395 LS 05,5 Cell array

InputName 659,55 SLJU oLl Cell vector of string

Notes Joe x5l lorsloaly Text

OutputDelay T sl )...'>la oy

OutputGroup =9 SIUlS 05,5 Cell array

OutputName Cell vector of strings

95 skl Ll

T, (S I3 8i5e5 ol Je

UserData Lol wledb| olgzdo

58 (g0 0300 dg latl 4 kS gl 5l o o
o 8 A allS -l Glpetugns Sl slad Jow @ px glp (Al ) T glo s diged Hley N
el polaal ()l 2 iges Loy b S Gloj s Bpme Timol g aigy — o) s Ti=0 35,
Iy el slad sldow yo 50 05 o))y o5&l loDelayMatrix 3 OutputDelay -« InputDelay 354
(30 Gg) Sl jao leaSg (nl (B8 G p3lie 5 05 (oo Sl
A oo )5 4l g5 g Luog,e SO ST (6,130 ISl OutputName ¢ InputName sls 554
A o g dely 4 ) pts Gl gy 9 Wadg)s (g0 0,5 Sl OutputGroup g InputGroup
21y 6399 Vg control 0,5 101, (635,0 ¥ Wlgi o mgh daliny 16359 O s o 5o Jlie lsie
425 | 8 noise og,5
Notes .ail oals 48,5 Lol 10 ugi 4ol Jawgy (Blol o )lge 25 (gly 5 User data ¢ Notes bS5
Qg g0 g 4ol User data Shg j0 .Cowl pivacew 0,b0 Jlxsgs gl \J&‘*’“’ g 009 text S lgas
WSy |y 095 15 0400 sl 0ols
b aslyS patie LS g cnla (B0 jlade jlade 0g2s 0l 53 Sleleallgius Gl Gl o &S plle o

o> glad o sys_SS Juw a1, ZpK ot f &ljgiws lawgs ool adgi Sys Jow SYS_SS=SS(SYS) g

g oo aaS Sl slad ghow Slles pl 4 0S8 oo o

Ol o a5 was o @l Gl 1) Sys g | cll> lad sass S, sys_ss=ss(sys, ' mnimal’) s

il o550 6 SRS L il Sy, o e

w‘ JOLM )") )9,1..4..) LJ )}lﬁ:b u.;‘
sys_ss=m neral (ss(sys))

S oo a5 1) ) e 23U (2P STl63959 ST e ) Jlie

1
-03s '
. N ot tetnprature

delay plant
P S oo Byre Sl glad ol plant 5 ol giw

» sys=tf(1,[1 1]);
» SYS_SS=sS(SyS);

D9 oo plol set jgiwe b G100 20 Hlade | Input Delay  S5:g « plantay >0 50938] 5l
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» set(sys_ss,’ ' I nputDelay’,0.3);

faer o O Al 5 sges ol 4 ool G (50938l 55 5 e (2955 5 69959 51K (sl
»set (sys_ss, ' I nput Nane’,’ energy’, Qut putnane’,’tenprature’,’ Notes',’ A
Sanpl e Heater Mde’)

4l Y gt a ol Al el ey g Gl o B3 U i gl Il slad Jow &8lg 0 SYS_SS i onl @

2,5 aalg> aseie Fwl lal joly 00 e ylej
3550 Get yginss 09 ol s 00l oalais SloaS g 5 (o Slad Jlade | dmlgsy g el alasd ja o azsliz
P B o o e Glgie 40,5 o 1,8 colal

» get(sys_ss, ' I nputDelay’)

ans=
0. 3000
el A8l 55 05 D9 (s 0
» sys_ss. | nput Del ay

ans=
0. 3000

Y b

&Kol i |y s Sl g5 9 Ll SYStEM i jo pivoew Sl slad Jow Golo,l 3 ogde 5 anliy
A e

A=[0 1;-1 -2];

B=[1;1];

C[1 0;0 2];

D=0;

systenrss(A, B, C D, ' statenane',{' position" 'velocity'}, ..

"Qutputnane',{'outl' ;'out2'});

:ssdat a ygiws —Y+-Y

ey Joo 55, 5l 2l sLad Dy Co Be A Glpa le 4y (g iws 1 Bua @

awgm by leiwaw [A B, C D= ssdata (SYS) e
awinS oy sleiwnw [ A, B, C, D, Ts] =ssdat a( SYS)

: c_’l.zwu ’93’
0350 houws Cdl> glas Jow a1y T lal jews ol e il oyp0f yaol dad b hows @b o8 4 gl Jow axili>

lad o gy gws ¢
> glad Jow o 25 0SS

1SS2SS ygumwo —Y)-Y
(teles o Jlesh) s sliad les o 'l sl jgme Jyond idan @

! State Coordinates
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SYST=ss2ss(SYS, T) o).
1l Poyhe il slad alei b SYS pin iOlxusgi
).c:Ax+Bu
y=Cx+Du
)y o lad Joao b SYST i 5 035 oo Jlosl X Jlop 59, |, x=Tx golas Jos SS28S jgiws

x=TAT " x+TBu
y=CT ' x+Du

oo demsles |, SYST Jolas piees T g5 a5 5 SYS piaas cdl,0 L SYST= $5258 (SYS.T) g
A3 pdy Gels WL T e sle . wis

tad yo gl ygws
> slas o JIS4lS 340 : canon

1882t T Hgws -YY-Y
Jad 2l 4 pis > (glad Jow bas :Ban @
[ Num Den] =ss2tf (A, B, C D, iu) o) e
s ool @l 1Ol g ¢

x=Ax+ Bu
y=Cx+Du

Num(s)
Den(s)

s bl NUM g 5le (gl o el S o5 el o o @b 50 gl (g5l Den s
ol JBlte (29,5 Jod @b Oy 4w o g Sl pcs Sl g >

ihd yo g ygiws ©
o glad o 4 piaes i ab Lo s £ 258
s (69 (el oS plil : SS288

H(s)= =C(sI-A)"'B+D

:1f2ss jeumws -YY-Y
i Jos @l (59 5 Sl (sLad Jas (53,91 Conas idan @
[A B, C D =tf2ss(Num Den) o) e
Wlrdg ®
S (oo o py S sl Jae ©)90 &) e o &6
).c:Ax+Bu

y=Cx+Du
sl o A8 s 0 4 Sl (sLad oo
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i yo (gl gims
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(F-8 Jlo) (s yul pimow (SleFwly oy —1-Y

Sl Shagd o usSane Sgl b0l s Jow gl Y0 Jlis o

2 A ddl> pieew gledad b wo S ol ke=[-1.91 -4.262 -45.49 -15.64]

S e e oy 1y OF il Sl Soad l o Sles ey sl Ll iy 8 [-1,-2,-2.5, - 3]
L Yoore Matlab 133l 55 o Kol euied o honilians c¥olas Jo ool jebaie ol 4 0ge)]
BB g el oads gy DYobas £55 cpl S 85t ¢ Jads a4 Ui ol jo Ll 08 o ploxl ODE' o jgiws
Hloads a8 5 a5y e cpl > glp 25 Oy90 s 0de s EXPS_ 3 slpsla

%~ Chapter 5, Exanple 3

clc
clear all;

% ~~~~ PARAMETERS DEFI NI TI ON
me. 1; % Kg - mass of pendul um
MEL; % Kg - mass of cart
| =. 06; % Kg.n2 - nonent of inertia
g=9. 81; % m sec”2
L=, 35; % neter (length of pendulumis 2*L)

ml_bar=ntL/ (mtM ;
n2_bar=ntL/ (] +ntL"22);

Si mul ati on Ti ne=5 sec
=0 01 0l 5
[rt,ct]=size(t);
par=fmMIl,qg,L,m _bar, n2 bar];

%~~~ 1. teta(0)=5 deg
teta 0=5*(pi/ 180); %teta(0) in radian
x(:,1)=[0;0;teta 0, 0]; %initial state

teta 5-ode(par,ct,x(:,1)); %calling user-defined
function: ode

plot(t,teta 5, 'b-');

%~~~~ 2. teta(0)=20 deg

teta 0=20*(pi/180); %teta(0) in radian
x(:,1)=[0;0;teta 0; 0] ; %initial state

teta 5=ode(par,ct,x(:,1)); %calling user-defined
function: ode

hold on;plot(t,teta 5,'b--');

EXP5_3 Jls—\-) & Jsib

ode23, oded5, odel13, odel5s, ode23s, ode23t, ode23tb
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Y%~~~ 4. teta(0)=33.4 deg
teta 0=33.4*(pi/180); %teta(0) in radian
x(:,1)=[0;0;teta 0;0]; %initial state

teta 5=ode(par,ct,x(:,1)); %calling user-defined
function: ode

hold on;plot(t,teta 5, 'b:');

legend('initial angle= 5 deg' ,'initial angle= 20
deg','initial angle= 33.4 deg' ,3);

"

EXP5_3.m Jal§ (4ala) -V - & JSib

function [teta] =ode(par _in,ct,x);
X(:,1)=x; %initial state
% ~~~~ DEFI NI TI ON OF PARAMETERS

mepar _in(1);
Mepar _in(2);
| =par _in(3);
g=par _i n(4);
L=par _in(5);
nl_bar =par i n(6);
n2_bar=par _in(7);

nb=nil_bar*n2 bar ; Yparaneter definition only
for convenience!

for k=2:ct

Y% ~~~~ STATE FEEDBACK
ke=[-1.91 -4.262 -45.49 -15. 64];
=-ke*x(:,k-1);

%-~~~~ NONLI NEAR DYNAM C EQUATI ON

x1 dot =x(2, k-1);

x2 dot 1=-nb*g*cos(x(3,k-1))*sin(x(3,k-1))/(1-

nmb*cos(x(3, k-1))22);

x2 dot 2=(nml bar*sin(x(3,k-1))*x(4,k-1)22)/(1-

nb*cos(x(3,k-1))22);

x2_dot 3=u/ ((mM *(1-nb*cos(x(3,k-1))"2));

x2 dot =x2 dot 1+x2 dot 2+x2 dot 3;

x3 dot =x(4,k-1);

x4 _dot 1=g*n2 _bar*sin(x(3,k-1))/(1-nb*cos(x(3,k-1))72);
x4 dot 2=- (nmb*sin(x(3,k-1))*x(4,k-1)72)/(1-nb*cos(x(3, k-
12

x4 dot 3=-nR bar*cos(x(3,k-1))*u/ ((mtM *(1- nb*cos(x(3, k-
1)

ode.m Jolé —Y-\ 5 ik
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/ x4 dot =x4 dot 1+x4 dot 2+x4 dot 3;

x(1, k)=x(1, k-1)+0.01*x1 dot ;

x(2, k)=x(2, k-1)+0. 01*x2 dot ;

x(3, k) =x(3, k-1) +0. 01* x3_dot ;

x(4, k) =x(4, k-1) +0. 01* x4 _dot ;
end

teta=x(3,:)*180/pi; % changi ng x3 fromradian to

K degr ee J

(4alal) ~¥-\ 4 Jsub

B g el EXPS 3.m al, Lol b .aisd 0,53 asli ;) S o wbode.m s EXPS 3.m LG g0
ot cdls SYolae da ol )b &gl 20 ,lade 5l e 0dem LU o ogh s Slexl3 T ygye 5l ode.m
0 &gl Slnis o s onei 5 2ig (oo S (101 6l Jsb 1) oIS a plS &30 4 FOT il S, 55 i
onl 00,5 oy Ll 40 o ooliw 3 EXPS 3.m Ll 4 g 0,8 0 8 t01a ate 10 43,0 cons ol
el 0033,5 oay B0 S8 55 a5 ol 418 5 aloul 0) gl ogliie a5l e 4 s Slilee

(A-% JLw) acker jews b cdl Shud ol,b -Y-Y

s Slgadad a5 000 5 Sk ge0 4 cll> Shand BansST S Lagles Sl s (6l V-7 Jls o
8l s 098 gl pies 5 438,515 [-0.9+1.9i -0.9-1.9i -1.8+0.6i -1.8-.6i] ,5 diey ail>

ﬂear al |

% ---- PARANVETERS DEFI NI Tl ON
all=-0. 0507;
al2=-3. 861;
a21=-0. 00117;
a22=-0. 5164;
a31=-0.000129;
a32=1. 4168;
a33=-0.4932;
b1=0;
b2=-0.0717;
b3=- 1. 645;

\ g=9. 81;

il 3 Oy >l ol o eolaiul 5,90

EXP6_8.m &sls s —¥—\ (5 Jsub

1'9=5°0=20°0=33.4°
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% ---- OPEN LOOP SYSTEM X dot =AX+BU - - - -
A=[all al2 0 -g;a2l1 a22 1 0;a31 a3l a33 0;0 1 0 0];
B=[ b1; b2; b3; 0] ;

% ---- OPEN-LOOP ANALYSI S
openl oop_ei genval ues=ei g( A
control ability rank=rank(ctrb(A B))

% ---- STATE FEEDBACK DES| GN

P=[-0.9+1.9i -0.9-1.9i -1.8+0.6i -1.8-.6i];
% Desired C osed-Loop Pl oes
K=acker (A B, P); % St at e- Feedback Gain

t=.01:.01: 10; % sinulation tine
[rt,ct]=size(t);

x(:,1)=[0;1;0;0]; %initial condition

for k=2:ct

u(k)=-K*x(:,k-1);

X K =x(. . k-1)+.01* (A el wk- Ty +B (k) )
end

% ~~~~ PLOITI NG STATES
subplot(2,2,1);plot(t,x(1,:));

title(' Regulation Problem state:X 1');
subplot(2,2,2);plot(t,x(2,:));

title(' Regulati on Problem state: X 2');
subpl ot (2,2,3);plot(t,x(3,:));

title(' Regulation Problem state:X 3');
subplot(2,2,4);plot(t,x(4,:));

title(' Regulation Problem state:X 4');

%-~~~~ PLOTTI NG CONTROL SI GNAL ~~~~

figure;plot(t,u);
title(' Regulation Problem Control Signal (u)');

%****************************

C[1000]; %selecting 'teta as system output

(aalal) —¥—\ & Jsui
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CL_sys=ss(A-B*K, B, C-D*K, D) ; % Cl osed- Loop System
CL_gai n=dcgai n(CL_sys);
% DC- Gai n of cl osed-|oop system

K r=i nv(CL _gain); % control signal: u=K*x+K r*yd
yd=1; % desired val ue for output (teta)

%-~~ S| MULATI ON ~~~
x(:,1)=[0;1;0;0]; % initial condition

for k=2:ct

u(k)=-K*x(:, k-1) +K r*yd;

(i kyexto e dye Ol (Al ko Ty SBUGk) Y
end

% ~~~~ PLOITI NG STATES

figure;subplot(2,2, D);plot(t,x(1,:));

title(' Tracking Problem state X 1');
subplot(2,2,2);plot(t,x(2,:));

title(' Tracking Problem state:X 2');
subplot(2,2,3);plot(t,x(3,:));

title(' Tracking Problem state: X 3');
subplot(2,2,4);plot(t,x(4,:));

title(' Tracking Problem both: X 4 and Qutput');

% ~~~~ PLOTTI NG CONTROL SI GNAL ~~~=
figure;plot(t,u);
title(' Tracking Problem Control Signal');

(4alal) Y= 4B Sk

sl o el LelS iy S 5 e0g 0. 1255 15 bl bss oS,

openl oop_ei genval ues =

0.1255
- 0. 3502
-0.2878
-0.5478

controlability rank =

4
Sl oals b cdl Soaus acker  jgiws l eolaiw! L STATE FEEDBACK DESIGN  jisw o
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clc

clear all

% ---- PARANMETERS DEFI NI TI ON
all=-0. 0507;
al2=- 3. 861;
a21=-0.00117;
a22=-0. 5164;
a31=-0. 000129;
a32=1.4168;
a33=-0.4932;
b1=0;
b2=-0. 0717;
b3=- 1. 645;
g=9. 81;

--- OPEN- LOOP SYSTEM X dot =AX+BU, Y=CX ----
A=[all al2 0 -g;a2l1 a22 1 0;a31 a31 a33 0;0 1 0 0O];
B=[ bl; b2; b3; 0] ;

C[100 0];

--- | NTEGRAL CONTROLABI LI TY ANALYSI S
[rA cA]=size(A;
[rB, cB] =si ze(B);
[rC cCl=size(O;

bar=[ A zeros(rA 1);-C zeros(rC 1)];
bar=[ B; zeros(rC,cB)];
Integral controlability rank=rank(ctrb(A bar, B bar))

A
B_

--- STATE FEEDBACK DESI GN

P=[-1.6 -2 -0.9 -2.5 -1]; %Desired d osed-Loop Pl oes
K=acker (A bar, B bar, P); % St at e- Feedback Gain
K1=K(1:rA);

K2=K(r A+1l: r A+r Q) ;

t=.01:.01:10; % simulation tine
[rt,ct]=size(t);

yd=1; % Desired output (desired value for 'teta')
w=[1;0;0;0]; 9%isturbance

x(:,1)=[0;0;0;0;0]; %initial condition of augmented
system

(37 JUia) JI,Sa30 J 08 b ol Saaad —¥-) (b Jsub
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for k=2:ct

u(k)=[-KL -K2]*x(:,k-1);
X(t k) x( k-1)+ O15(A bar?x( K-
1) +B bar *u(k) +[ zeros(rA 1); 1] *yd+[ w; 0] ) ;

% ~~~~ PLOITI NG STATES
subplot(2,2,1);plot(t,x(1,:));

title(' Tracking with D sturbance, state;
subplot(2,2,2);plot(t,x(2,:));

title(' Tracking with D sturbance, state:
subplot(2,2,3);plot(t,x(3,:));

title(' Tracking with D sturbance, state:
subplot(2,2,4);plot(t,x(4,:));

title(' Tracking with D sturbance, state:

% ~~~~ PLOTTI NG CONTROL S| GNAL ~~~~
figure;plot(t,u);
title(' Tracking with Disturbance, Control Signal');

%~~~~ PLOTTI NG OQUTPUT S| GNAL
figure;plot(t,x(1,:));
title(' Tracking with D sturbance, Qutput Signal');

(dolal) =¥\, Jsut
i SaS s s SIS0 6 p 3y J S 5008 Byae B g A gloas il FO-F-F Al 5l ooliiul bl

9 K]_ ‘_gl{,wa).:Lc w0l oolaw! cdl> ASJM u’_>‘).|a 6‘).3 acker )G )‘ By R od.)‘.))f r ctrb
ilosds (gjlolaz FY-F-5 i, 5.bK;

(Ve=F Jlio) o (Snolind 5L Cdlo Soud puds' 1 -F-Y
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035y Jo cnl 4y Logiye o5 el ams so )18 3l Comi 1) s (Seoliys JB8) ()1 jund 5 G 0 iy i

[ Aale 0

clear all

%--- DEFINITION OF M MO SYSTEM - - - -

A=[0 1 0;0 -1.799 6.953:0 0.939 -1.660];
B=[0 0;-28.97 -6.453;-0.174 -0.230]:

[rA cA]l=size(A);
[rB, cB]=size(B);

4
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%« DESIRED POLES CF O] CBED L0 sy STEN: - 00 o

P=[-2 -2.5 -1]:
[rP, cP]=size(P);

Ni=nul | ([A-P(1,1)*eye(rA) B])
N2=nul | ([ A-P(1, 2) *eye(rA) B])
N3=nul | ([A-P(1, 3) *eye(rA) B])

% SELECTI NG DES|I RED PEREORVANCE BY SELECTI NG VECIORS - -
Yoo Birst selection Kl ieees
vec=[ NL(:,1) N2(:,1) N3(:,2)];% SLON MODES CANCELATI ON
Q=vec(4:5,:);
V=vec(1:3,:);

K=Qrinv(V); % STATE FEEDBACK GAI N
sim('exp610' ,[0 8]); % system si mul ati on
X1=st at es;

Tl=ti ne;

9%~ Seecond sel ection KZ >
vec=[ NI(:,1) N2(:,1) N3(:,1)];
O=vec(4:5,:);
V=vec(1:3,:);

K=Q*i nv(V); % STATE FEEDBACK GAIN: K2

sin(' exp610' ,[0 8]); % system si mul ati on
X2=st at es;

T2=ti ne;

%---- RESULTS PLOT
plot (T1, X1(:,1),'b' T2, X2(:,1),'r--');
legend('x 1 for Ki','x 1 for K2');
title(' State variation for x 1');
x| abel (' Tine (sec)');

figlre, ploB&T1 X1(: 2. b T2 X2(. 2% 'r-.' )
legend('x 2 for K1','x 2 for K2');

title(' State variation for x 2');

x|l abel (" Tine (sec)');

figure;plot(T1, X1(:,3), b , T2, X2(:,3),'r--"):
|l egend(' x 3 for K1','x 3 for K2');
title('State variation for x 3');

x| abel (' Tine (sec)'):

(aalal) —0-1 & Jsui

SSS 3l oolaiwl 4oy ol jo Ll &S Lol sl ool ool 5 slad dwlre gl NUTT Hgis
Sy90 yshaie yad (gl ST M jgtws .l ouls oolaiwl “ Simulink U (g3luacs « Matlab o olowls”

1S s s5id (5l ool Byzs oy s LS el 423,513 ooliciul

40



Lo opl o cal (Solns gl giluand ¢l 31 e S Simulink ils oo a5 ghailes
Cowl ool aid 3 Lo o g S SILSH ISl 6 g0 (o b ioles b glad ioled :pudas gousio sleS'sl
ol by 590055 515 oS3l () 31 S o 5 oo (5rtnns |y 355 s 5205 2 il Ll b oS
Jer s Sl sl il Sob Jle e & S e | L] sl ilatent 3 5 b b o5
ol & (B3 ke gy Ko Wisd go (B3 ke b bwsi 4 il D g C BiA (gl 5o 290 4 sl
ol el eoly s (g ,lade Matlab lae o o le U @ asslis> ool Matlab s (9,0 5l b il )b
eyl T 50,8 3)ls Jore 10 aS B Lais gy dalss Sles,8 LB Simulink Lo [0 Sols o 107 o ile
b sim('exp6l0',[0 8]) ,5ws w05 o3k oy by 4 eS| gl Al o yle sl
My ol st Sley 85L 5 S o Sls31,8 1>l 6l |y el Simulink lae o J S a5 exp610. ndl
Sl odal £-V o JSi 40 exp610. mdl LB sas s )8 4l

K 1Y

exp610. mdl Ll —F-\ o J<d

& Wb a5 "wes Gain Matrix o 4 el 5 lls K g B A bl bonds aseie sbeSsb 5l S o
si (' exp610', [0 ,gwo slyx! 5l LS K g BUA lows jle 040 ativg Ll o K g B A slgsl s 5
©ol> state sie Simulink lase o LB cpl gzl 5w wloads oy a5 0-) o S &by 40 8])
ogday .09 o oils,5 5L Matlab o o Gl bl slpile) (ol oS IME yitin 3 g e s>
integrator S'sly o initial condition ol )L, €Xp610. mdl Ll o picew bl @ adgl lade yols gl
S0 b AV 6 9 OV o ldSE (o o zolae LB g0 a5 cul ol azgr BB AT cnl ool a8 )8 i o

e 03 a5l )

0=V Jlo) <l Ky (21 5b -0-Y
ablge VoV Jlie 4 bogaye 05 delip 28,5 )18 (o 590 V-V i 50 JulS A5 pe K3, (il bgos

gdige (20 ) Dy & e Sl slad Gl )

IS S Jlgo 5 j50 Sl (3, dazally 50,5 0l iy 4 0gy5 sl Y

41



clc
clear all

%-DEFI NI TI ON OF PARAMETERS OF | NVERTED PENDULUM SYSTEM-

nE. 1; % Kg - mass of pendul um

MEL; % Kg - mass of cart

| =. 06; % Kg. n*2 - nmonent of inertia

g=9. 81; % ni sec”2

L=. 35; % meter (length of pendulumis 2*L)
ml_bar =nt L/ (mM ;

n2_bar=ntL/ (| +ntL"2);

nb=nll_bar *n2_bar ;

% - LI NEARI ZED DYNAM C EQUATI ONS OF | NVERTED PENDULUM - - -

A=[0 1 00;00 -nb*g/(1-nb) 0;0 0 0 1;0 O n2 bar*g/ (1-nb)
0] ;
B=[0; 1/ ((mM *(1-nb));0;-n2_bar/((mM*(1-nmb))];
C[10 0 0]; Y%sel ecting state 'x(t):displ acenent' as
syst em out put

% - OBSERVABI LI TY CHECKI NG - - - -
observabi l ity rank=rank(obsv(A ©)

% - SELECTI ON OF OBSERVER POLES
P=4*[-0.7+3i ,-0.7-3i,-0.8+0.8i,-0.8-0.3i ] ;
Y%observer poles are selected 4 tines faster than
%! osed-| oop pol es of exanple 5-3

% - FI NDI NG OBSERVER GAI N USI NG Ackermann's Fornul a --
L ext =zacker(A ,C ,P);
L=L ext'; %"L" is the Observer Gain

% - OBSERVER S| MULATI ON using "SI MJLI NK"

[tine, states, out put] =sin(' observer' ,[0 2]);
% Matrix "states" has 8 colums: first 4 colunn are
% eal states and the next 4 colums are estinated
col unns.

% - PLOTI NG GRAPH OF REAL & ESTI MATED STATES ----

subplot(2,2,1);plot(tine,states(:,1), ' b:',tinme,states(:
Yo b-" ) title( X1 );

subplot(2,2,2);plot(tine,states(:,2),'b:',tine,states(:
), b-")title(' X 2 );

| egend(' Real State',' Estinmted State')

subplot(2,2,3);plot(tinme,states(:,3),'b:', tine,states(:
), b-")ititle(' X 3 );

subplot(2,2,4);plot(tine,states(:,4), ' b:',tine,states(:
), b- ) title(! X 4 };

(V- Jle) S35, (o2l dols o V-1 o Jsud
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.aa;@ S s (S Cad, o sle &g, rank(obsv(A Q) ,gws jl eolawl b ol aobipy cpl jo

JSo) observer. mdl - LB o Ly sloas .cosl oals eolawl acker giws 3l 58 X035, b0 2k sl
el 00 @‘5}‘)3 Py )gwd "‘IM?) aS :Ld)f ral.‘}u‘ (A—\uo

[tinme, states, output]=sin('observer',[0 2])

time , states.output slpws b o500 4 Simulink la>s ,o observer.mdl LG sl >l zls

o 9 kil Ol e plot jgiws l eolaiel b el jo g 05d e oails,55L Matlab lose «
255 ey Ol s 1) s

|

V-V Jlis (s jlewdands (5] 5o Observer. mdl dols yu —A-\ & IS

Y-V Jlw) a8l ‘_,:;.alS 4 yo ,S...’""j) -7-Y
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% Exanpl e 7-2, Reduced- Order Qbserver \

clc
clear all

DEFI NI TI ON OF PARAMETERS OF | NVERTED PENDULUM SYSTEM ~~

e 1; % Kg - mass of pendul um

Me1; % Kg - mass of cart

| =. 06; % Kg. n*2 - nonent of inertia

g=9. 81; % nl sec”2

L= 35; % neter (length of pendulumis 2*L)

4
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ml _bar =mt L/ ( MM ;
ne_bar=ntL/ (| +ntLA2);
nb=nil_bar *n2_bar ;

% LI NEARI ZED DYNAM C EQUATI ONS OF | NVERTED PENDULUM - -

A=[0 1 0 0;0 O -nb*g/(1-nb) 0;0 00 1;0 0
n2 bar*g/(1-nmb) 0];
B=[0; 1/ ((mtM *(1-nb));0;-nR _bar/((mM*(1-nb))];
C[10000010];
YSel ecting state 'x(t)' & 'teta(t)’' as neasured
%out puts, O her states should be estinated!

% - SELECTI NG OBSERVER POLES
D=[-10 0;0 -10];

% - SELECTING "Q' AND Fl NDI NG
s[00 1 001 000000 1:0, 1
A tawsi nv(Q *A*Q

All taw=A taw(1: 2
Al2 taw=A taw(1: 2
A21 taw=A taw 3: 4
A22 taw=A taw(3: 4

%- FINDDNG "R’ & "T"
L taw=(D- A1l taw) *i nv(A21 taw) ;
T=A12 taw+lL tawA22 taw- DL _taw,

{{ 0100008 101]
R=L*B;

% - FINDING"F1" & "F2"
F=inv([C L]);
EiFl 1 2}
F2=F(:, 3:4);

% - SI MULATION USI NG "SI MULI NK" - -
sim(' reduced observer' ,[0 1]);
%this sinulation will return "tine","real states" &
% "estimated states” to workspace.

% - DRAW NG GRAPHS - - -

subplot (2,2, 1);plot(tine,real state(:,1));

| egend(: Measured State' );title(' X 1');

subplot (2,2,2);plot(tinme,real state(:,2), b:',tine,esti
mstate(:,2), b-');

legend(' Real State ,'Estinmted State' );title(' X 2');
subplot (2,2,3);plot(tine,real state(:,3));!|egend(' Measu
red State' );title(' X 3 );xlabel (' Ti me(sec)');

subplot (2,2,4);plot(tine,real state(:,4), b:',tine,esti
mstate(:,4), ' b-');legend(' Real State','Estinated
State' );title(' X 4 );xlabel (' Ti ne(sec)');
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% Exanpl e 7-3, State Feedback+State Cbserver

clc

clear all

% ---- PARAMETERS DEFI NI TI ON
all=-0. 0507;
al2=-3.861;
a21=-0. 00117;
a22=-0.5164;
a31=-0. 000129;
a32=1.4168;
a33=- 0..4932;
b1=0;
b2=-0.0717;
b3=-1. 645;
g=9. 81;

%---- OPEN-LOOP SYSTEM X dot =AX+BU - - - -

[all al2 0 -g;a21 a22 1 0;a31 a31 a33 0;0 1 0 0];
[bl; b2; b3; 0] ;

Cif100 0];

A=
B=

% --- CONTROLLABILITY & OBSERVABI LI TY CHECKING - - - -
controllability rank=rank(ctrb(A, B))
observabi |l ity rank=rank(obsv(A, C))

(7= Jlie) a5 s s Sy 8 )12 03 g
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% - SELECTI NG POLES OF CLOSED- LOCP SYSTEM AND OBSERVER - -
Pe=f-2 -2 5 :1 -1 5] %! osed- | oop pol es
Po=3*[-2,-2.5,-1,-1.5]; Yobserver pol es

% --- CONTROLLER AND OBSERVER GAI N
K=acker (A, B, Pc) ;
L=(acker (A ,C ,P0))';

% --- S| MULATI ON USI NG "SI MLI NK" ----
sin('cont',[0 10]); % eedBack with Real states
sin('obsv cont',[0 10]); %eedBack with Estinated states

% --- DRAW NG GRAPHS --- -

plot (tinel, cont control,'b:',tine2, obsv cont control,’ b-
'); xl abel (' Ti ne(sec)');

| egend(' Feedbak of real states','Feedbak of estiated

states' );title(' Control Signal');

figure;
for k=1:size(A
subpl ot (2, 2, k) ;
plot (tinmel, cont _states(:,Kk),
s k) by

b:',tine2, obsv_cont. states(

end

subplot(2,2,4);1 egend(' Real State', Estinated State');
x| abel (' Ti ne(sec) ' );

subpl ot (2, 2, 3) ; x| abel (' Ti ne(sec) ' );

(aalal) VAN & Jsii

M ) O ygo 4y Lilaid S 18 solaiul 9y9e aslip opl ;0 a5 obsv_cont. mdl , cont. ndl LLLG
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To Workspace

cont. mdl Jsl8 -V Y-\ 4o s
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ahay_cont_ states

To Workspaoe

-
obsv_cont. ndl Lld -\Y¥-\ 5 s

Gl oals aid )8 Jlas s [0.2,0.1,-0.5,0.5] & s0 4 598 b gs,e jointegrator Seby &gl Lyl i
Sl 0dls a8 5 L5 o a0 Obsv_cont. mdl (LB e integrator] Ssly gl adsl byl oyl
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ﬁxan‘pl e 7-4: State Feedback + Reduced- Order Observer \

clc
clear all

%~ DEFI NI TI ON OF PARAMETERS OF Longitudi nal notion ~~~
A= 07 0.012 0 -9.81;-0.128 -0.54 1 0;0.064 0.96 -0.99

01 0];

.036;-12.61; 0] ;

-0.0
0;0
B=[0;-0
Cli 000010 0],

% Sel ecting state "x(t)' & 'teta(t)' as neasured outputs,
% O her states should be estinmated!

% - SELECTI NG OBSERVER POLES
{10 0i0 10|

A 4
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% - SELECTING "Q AND FI NDI NG "A
[0,0,1,0;0,0,0, 1 i
Atawsinv(Q*A*Q

All taw=A taw(1: 2,
Al2 taw=A tawm 1: 2,
A21 taw=A taw 3: 4,
A22 taw=A taw 3: 4,

%- FINDNG "R' & "T"
L taw=(D A1l taw) *i nv(A21_taw);
T=A12 tawtlL tawA22 taw DL taw

L=[L taw [0 1;1 0]];
R=L* B;

% - FINDI NG "F1" & "F2" --
F=inv([G L]);
Fl=F(:, 6 1: 2);
F2=F(:, 3:4);

K=[0.922 -6.5955 -2.35 -8.977];
% state feedback from exanple 6-8

% - SI MULATI ON USI NG "SI MULI NK" - -
sim(' reduced obsv_cont',[0 10]);
%this sinmulation will return "tine", "real states”
% "estinmated states" to workspace.

% - DRAW NG GRAPHS - - -
subplot(2,2,1);plot(tinme,estimstate(:,1));
| egend(' Measured State');title(*X 1');
subplot(2,2,2);plot(tine,estimstate(:,2));
| egend(' Measured State');title(' X 2');
subplot(2,2,3);plot(tinme,estimstate(:,3));
|l egend(' Estinmated State');title(' X 3 );

x| abel (' Ti me(sec)' );
subplot(2,2,4);plot(tine,estimstate(:,4));
| egend(' Estinmated State' );title(' X 4');

x| abel (' Ti ne(sec)’ ) ;

[rt,ct]=size(tine);

kk=(rt-mod(rt,4.5))/4.5;

figure;

plot(time(l:kk),real cont(1:kk),'b:', tinme(1l:kk),estimcon
t(21:kk), b-');xlabel (' Ti me(sec)’);

llegend(' Wth Real States', Wth Estinated States');
title(' Control Signal')
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STATE FEEDBAK + REDUCED ORDER STATE ESTIMATOR

To Workspacad

To Workspacs3 real_siaie | ‘ real_cont "7
o Workspaca?

STATE FEEDBACK ONLY
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ﬁExanpl e 8-1: Optinal State Feedback \

clc

% -- SYSTEM DEFINI TION ---
A=[0 1;0 0];

Fl RST SELECTI ON FOR ® R1'
% SELECTION OF "R1" & "R2" ACCORDI NG TO COST FUNCTI ON -
Ri=[1 0;0 0];
R2=1;
K=gain cal (A B, Rl, R2);

% -- S| MULATI ON - - -

sim'optimal’',[0 5]);statel=states;
K control 1=control ;ti nel=ti me; /

(1A Jlio) e S Eaags J S 1721 03 s
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SECOND SELECTION FOR 'R1' & ' R2'
% SELECTION OF "R1" & "R2" ACCORDI NG TO COST FUNCTI ON -
R1=[ 10 0; 0 0];
R2=1;
K=gai n_cal (A B, Rl, R?2) ;
% -- SI MULATION ---
sin('optimal',[0 5]);state2=states;
control 2=control ;ti ne2=ti ne;

THI RD SELECTI ON FOR ' R1'
% SELECTION OF "R1" & "R2" ACCORDI NG TO COST FUNCTI ON -

R1=[ 100 0;0 O];
R2=1;
K=gai n_cal (A B, Rl, R2);

% -- S| MULATI ON - - -
sin('optimal',[0 5]); state3=states;
control 3=control ;ti ne3=ti ne;

FORTH SELECTI ON FOR ' R1'
SELECTION COF "R1" & "R2" ACCORDI NG TO COST FUNCTI ON -
R1=[ 10 0; 0 0] ;
R2-5"
K=gai n_cal (A B, Rl, R2) ;
% -- SI MULATION ---
sim'optinal' ,[0 5]); stated=states;
control 4=control ; ti ned4=ti ne;

FI FTH SELECTI ON FOR ' R1'
% SELECTION OF "R1" & "R2" ACCORDING TO COST FUNCTI ON -
Ri=[ 10 0; 0 0];
R2=25;
K=gai n_cal (A B, Rl, R?);
% -- SI MJLATION ---
sin(' optinal',[0 5]); stateb=st ates;
control 5=control ;ti me5=ti ne;

Yetat#H##A### RESULTS PLOITI NG ####H##H#HH##H

subplot(2,1,1);plot(tinel,statel(:,1), b:',tine2, state2(:
,1),'b-' , tine3,state3(:,1), ' b--');
| egend(’' R1=1', ' R1=10',' R1=100');

subplot(2,1,2);plot(tinmel,statel(:,2), b:',tine2, state2(:
,2) 7t b-' tine3,state3(:,2), b--');
| egend(' R1=1' ,' R1=10', ' R1=100' ) ; x| abel (' Ti me(sec)');

figure;plot(tinmel, controll,'b:',tine2,control2,’b-
',time3,control 3,'b--');

| egend(' R1=1',' R1=10',' R1=100'); x| abel (' Ti ne(sec) ' );
title(' Optinmal Control Signal: Effect of "R1" Variation')

figure;plot(tinme2, control2,'b:', time4, control4,' b-
‘,tine5,control 5, ' b--');
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| egend(’ R2=1' ,' R2=5' ' R2=25' A, 4); x| abel (' Ti ne(sec)');
title('Optinmal Control Signal: Effect of "R2" Variation')

(dalal)-\ PN 4o Jsd
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ffuncti on [K]=gain cal (A B, Rl, R2) \

% -- SOLVI NG RI CCATI EQUATI ON (15-3-8) ---
R=B*inv(R2)*B ;
Q=RL;
[ P1, P2, LAMP, PERR, VEELLPOSED, P] = aresol v(A Q R, ' schur');
K=inv(R2)*B *P; Y%st ate feedback

4
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% Exanpl e 8-2: Cal cul us of Variation

clc
clear all
% -- SYSTEM DEFI NI TI ON - - -
A=[0 1;0 0];
B=[0; 1] ;

% -- SELECTION OF "R1" & "R2" & "P' ACCORDI NG TO COST
FUNCTI ON - - -

R1=[ 1000 0; 0 O] ;

R2=20;

Pi=[1 0.0 1],

% - - SYSTEM PERFORVANCE TI VE AND BOUNDARY VALUES ---
t=.001:0.001: 2;
[rt,ct]=size(t);

x(:,1)=[2;6];
P=P1: %final value for P(t) (it neans P(t=2))

(YA Jlio) &l yaads Glus —VA-Y (i JSid
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% -- SYSTEM S| MULATI ON USI NG EQ (34-4-8)---

%~ IN FI RST FOR- LOOP, VE W LL FI ND THE SEQUENCE OF
%~ FEEDBACK GAIN "K(t)" WH CH SHOULD APPLY TO SYSTEM | N
%~ ORDER TO "x(t=2)=0"

for k=1:ct-1
P_dot =- (R1l- P*B*i nv(R2) *B' * P+P* A+A *P) ;
P=P- 0. 001*P_dot ;
% he sign '-' is because of backward iteration!

K(ct-k,:)=inv(R2)*B *P; % Feedback gain
end

%~ | N SECOND FOR-LOOP, VW WLL APPLY CONTRCL SEQUENCE
%~ TO THE SYSTEM
for k=1:ct-1
u(k)=-K(k, :)*x(:,Kk);
% Control signal
X(:, k+1)=x(:, k) +0. 001* (A*x(:, k) +B*u(k) )
% Appl ying control signal to system
end

% - - DRAW NG GRAPHS - - - -

%r awi ng states
plot(t xt1l 1. ct), b 1 x(2 1. ch)a b-1]:
x|l abel (' Ti ne(sec)');legend(' x 1(t)',"x 2(t)');
title(' System States' );

%r awi ng Control Signal
figure;plot(t(1:ct-1),u); xlabel (' Ti ne(sec)');
title(' Control Signal');

% awi ng Feedback Gain
figure;
plotttéd. et - K( 1) 'b t(1l.et-1) K 2] b )
legend(’' K 1(t)','K 2(t)');
x|l abel (' Tine [sec]');title(' FeedBack Gain');
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% Exanple 8-3: Optinml Control & Degree of Stability
clc

% -- SYSTEM DEFINI TI ON -- -
A=[0 1;0 0];
B=[1 0;0 1];

% SELECTION OF "R1" & "R2" ACCORDI NG TO COST FUNCTI ON -
Ri=[1 1:1 1];
R2=[1 0;0 1];

% -- SOLVI NG RI CCATI EQUATION (15-3-8) ---
R=B*i nv(R2) *B ;
Q=RL;
[ P1, P2, LAVP, PERR WELLPOSED, P_al fa] =
aresol v(A+2*eye(2), Q R ' schur');

K alfa=inv(R2)*B *P_al f a; Y%t ate feedback

% -- S| MULATI ON - - -
sin('optinal',[0 2.5]);

plot (tine,control);
title(' Control Signal');xlabel (' Tine [sec]');

figure;
plot(tine,states(:,1), ' b:' ,time,states(:,2),'b-");
legend(' x &(t)', ' x 2(4)" );

title(' System States' ); xl abel (' Tine [sec]');

% -- CLOSED- LOOP POLES - - -
cl osed_I oop pol es=ei g(A-B*K al f a)
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% Exanple 8-4: Kalman Filter

clc
clear all

% -- SYSTEM DEFINITION -- -
A=[0 1;0 0];
BiD 4
C[1 0;0 1];

%~~ Part1: KALMAN FI LTER DESI GN ~~~~

% SELECTI ON OF "R1" & "R2" ACCORDI NG TO COST FUNCTI ON -
R1=1;
R2=[2 0;0 1];

% -- SOLVI NG Rl CCATI EQUATI ON (8-3-15) ---
RO SinviR2) ¢
Q=B*R1*B' ;
[ P1, P2, LAMP, PERR, VELLPCSED, P] =
aresol V(A , Q R 'schur');

L Kal man=i nv(R2) * C* P; %t ate feedback

% ~~ Part 2: LUENBERCGER OBSERVER DESI GN ~=~
P=[-2 -3]; Ylesired observer poles
L t=place(A ,C ,h P);
L Luenberger=L t';

% -- S| MULATI ON - - -
sin(' conpare' ,[0 7]);

plot(tine,statel(:,1), 'b:' ,tine,statel(:,2),’' b--
‘,time,statel(:,3), b-');
title(' States variation: x 1');:xlabel (' Tine [sec]');
| egend(' Real',' Luenberger estinmated ,'Kal man
estinmated', 2);

figure;

plot(tine,state2(:,1), ' b:',tine,state2(:,2),'b--
‘ytinme,state2(:,3), b-');

| egend(’ Real ' ,' Luenberger estimated','Kal nan

estimated , 2);

title(' States variation: x 2');xlabel (' Tine [sec]');
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% Exanpl e 8-5 (For system of exanple 6-1)

clc
clear all

% -- SYSTEM DEFI NI TI ON - - -
AL 6 -3-1-11 -2 2 0],
Bl 1 1] :

[0 1 1]

%~~~ Partl: KALVMAN FI LTER DES|I GN ~~~~

% SELECTION OF "R1" & "R2" ACCORDI NG TO COST FUNCTI ON -
R1=5;
R2=5;

% -- SO.VI NG RI CCATI EQUATI ON (15-3-8) ---
R=C *inv(R2)*C,
=B*R1*B ;
[ P1, P2, LAMP, PERR VEELLPOSED, P] =
aresol v(A , QR 'schur');

L_Kal nan=i nv(R2) *C* P; %t at e feedback

% ~~ Part2: LUENBERGER OBSERVER DESI GN ~~~
P=[-2 -3 -1]; Ydesired observer pol es
K=acker (A B, P);

% -- SI MJLATI ON - --
sim ' kal man _cont' ,[0 30]);
pl ot (ti ne, out put) ;
title(' System Qutput'); xl abel (* Ti e [sec]');

figure;plot(time,control);
title('Control Sianal'):xlahel (' Time [secl!®):

(- Jia) (allS AL Ly o235 S 58 ()N -) 3 s

ﬁ) Exanpl e 8-5 (For system of exanple 7-3)

clc
clear all

% ---- PARAVETERS DEFI NI TI ON
all=- 0. 0507,
al2=-3. 861;
a2l1=-0.00117;
a22=-0. 5164,

k a31=-0. 000129:

~
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a32=1.4168;
a33=- 0. 4932;
b1=0;
b2=-0.0717;
b3=-1. 645;
g=9. 81;

% ---- OPEN LOOP SYSTEM X dot=AX+BU ----
A=[all al2 0 -g;a2l1 a22 1 0;a31 a31 a33 0;0 1 0 O];
B=[ bl; b2; b3; 0] ;
C[100 0];

%~~ Part1l: KALMAN FILTER DESI GN ~~~~

% SELECTI ON OF "R1" & "R2" ACCORDI NG TO COST FUNCTI ON -
R1=5;
R2=5;

% -- SOLVI NG Rl CCATI EQUATION (15-3-8) ---
R=C *inv(R2)*C
EB*R1*B ;
[ P1, P2, LAMP, PERR VEELLPOSED, P] =
aresol v(A , QR 'schur');

L Kal man=i nv(R2) *C*P; %t at e feedback

% ~~ Part2: LUENBERCER OBSERVER DESI GN ~~~
P=[-2 -2.5 -3 -4]; Y%lesired observer poles
K=acker (A B, P);

% -- S| MULATI ON - - -
sim ' kalman cont’' ,[0 12]);
pl ot (ti me, out put) ;
title(' System Qutput'); xl abel (' Tine [sec]');

figure;plot(tinme,control);
title(' Control Signal');xlabel (' Tine [sec]');
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